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Hh g e 5B x| 85t Hh 35 HEK 5 x| &t
LtEF—TH 809| 815| 809| 1,624 [FE=TH 1,343| 1,644| 1,648 3,292
tEFZ-TH 819| 896| 895 1,791| [hEWTH 774] 844 940| 1,784
TE—TH 1,786] 1,508 1,795[ 3,303| |+EHETH 998| 1,142| 1,181] 2,323
TEI=TH 1,572| 1,472 1,601] 3,073| |FEATH 856 814| 818 1,632
PEF—TH 172 908 902| 1,810| |B7E—TH 1,213] 1,229( 1,321] 2,550
PEF_TH 514| 585 612| 1,197| |BE=TH 726]  610[  769| 1,379
FEF=TH 635 800| 842| 1,642| |BE=TH 422]  464] 478] 942
PEFMETHE 765 777|892 1,669| (EpEETH 590  684| 718| 1,402
PEFRTH 990| 1,126[ 1,215| 2, 341| [BHEETH 1,045 966| 1,073[ 2,039
TEF—TH 868 1,037 1,093] 2,130| |#xL—TB8H 1,918] 1,612 1,824] 3,436
TEF=-TH 326 404|413 817| [MIL=TH 1,446( 1,279| 1,286 2,565
TEF=TH 131|143  126] 269| |#AIL=TH 889| 775 902| 1,677
TEFWTH 229| 286 301| 587 [MME—TH 1,736] 1,708| 2,048 3,756
TEFRETH 237) 301|318 619 [ME=TH 1,587| 1,556| 1,806] 3,362
TE—TH 965 881 820 1,701| (ME=TH 1,558] 1,683| 1,742] 3,425
TE=TH 517 703 698| 1,401| |#BE—TH 50 33 49 82
TE=TH 192| 253 258| 511 |#8E=TH 538| 449 529] 978
BENAE—TH 448 554 547| 1,101| |#E=TH 1,178] 1,147] 1,199] 2, 346
MBAE=TH | 1,389 1,089] 1,245| 2,334| [BE#Em&st |35, 490(36, 166]38, 715/74, 881
BAE=TH 229| 346 351|697
EAEMRTH 26 43 32 15
EBAERTH 582 504] 498| 1,002
BAENRTH 232 333 328 661
hE—-TH 878 950 964| 1,914
hE=-TH 12 813 829] 1,642 HwEEt 35,490(36, 16638, 715]74, 881




